Round the following numbers to the nearest hundredth.

Solve

Round to hundredth

5.025

5.079

5.103

5.117

5.108

L.

0.35x1.5=

5.63 +14.37 =

371x2,584 =

625x 847 =

85.703 +12.197 =

57.03 +2.08 =

0.3+0.82=

1.4-0.7=

7.148 - 0.07 =




Solve and then write the sum in standard form.
14 tenths + 9 tenths = tenths = one(s) tenth(s)

7 ones 2 tenths + 4 tenths =

Complete each conversion.

a. 7mm= cm
b. 7cm= m
C. m =7 km

Mr. Edwards is making sandwiches. He has 4 pounds of cheese. He puts 1/8 pound of cheese on each
sandwich. What is the total number of sandwiches Mr. Edwards can make using all 4 pounds of cheese?



